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d®e  (Cash) 10,000 9,000
gt fda (Bill Receivable) 5,000 3,500
< fda (Bill Payable) 7,000 9,000
%reR  (Furniture) 10,000 11,000
The (Stock) 30,000 41,000
faoRo @ 3T R s 2° S fAf T YeRT b1 auig

BIFY |

What do you Understand by Variances? Explain their
different types.
OR

frforRaa afferel | T B -
From the following data Calculate :
1. YT SNTd f=Ror
(Material Cost Variance)
2. Al Heg faeRo
(Material Price Variance)
3. | WA fdeRor
(Material Usage Variance)
4. | AN YA f=RoT
(Material Revised Usage Variance)
5. ATl fAsror femRor

(Material Mix Variance)

UHIOTT (Standard) JrRaIfdd(Actual)
31 60 Bl X W 2 Ufd SHIs 80 $HIs X ® 3 Ul sHle
(A 60 unit@ Rs. 2 perunit) (80 units@ Rs.3 per unit
9 40 SHIS X % 3 Ul SHls 40 SHIS & & 5 Ul shls
(B 40 unit@Rs.3 perunit) (40 units@Rs. 5 per unit
HA 100 SHS HA 120 PIg
(Total 100 Units) (Total 120 Units)
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[kMN* e nll vir yikjh ¢*u g] felg gy djuk viuok;!
gA [k.M ct el pkj yikjh rik vikrfid fodYi;& ¢*u gA

[k-M "B* e pkj nh&kmikjh ¢*u g] feue I ¢R;d e vkrfjd

fodYr gA [k.M "¢ dk Icl igy gy djA

Note :Section'A' consists of 10 very short answer type questions, all of which

are compulsory and should be attempted first. Section 'B' consists of
four short answer type questions with internal options. Section 'C'
consists of four long answer type questions with internal choice.

---X--- https://universitynews.in/

s ‘317 (Section 'A')
fuEukfdr viryikjh ¢ uk d mikj ,d ;k nk okD;k e ni %
Answer the following very short-answer-type questions in one
or two sentences : (2x10=20)

. TSI IRATAfS I 3 T FHS & °

What do you mean by management Accounting?

. fo<ira famemor & = emery 87

What is meant by financial Analysis?

. ITe] UTd &1 G 9argy |

Give the formula of current ratio.

. &l ™ U RIT &7

What is Gross profit ratio?
wie 3faxi JJUrd by Hed 87

What is stock turnover ratio?

P.T.O.
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DY T BT AT A BT 27
What is the meaning of fund?
AT ¥ e o wEd 87
What is called cash from operation?
QYT SANTa feRie &1 gF gargy |
Give the formula of material cost variance.
5 e a9 fdaRor @/ 8?
What is labour idle time variance?
ydgar orar fafyy feas fog ve eaas € 2
Mention the name of domain for which management
accountency acts as a framework.
3us ‘¥’ (Section 'B')
fuEukidr y% mikjh; ¢'uk d mikj 2008250 “iCn Bhek e ik
Answer the following short-answer-type questions with word
limit 200-250 : (5x4=20)
TP A B UGRT W yHTe SIferw |
Throw light on the nature of management Accounting:
OR
UGBTI S & & DT qui BITTY |
Define the scope of the management Accounting:
71 & Ty afTaR U ST DIy
Find out stock turnover ratio from the following :
fd® (Sales) Rs. 320000
Tl A IAFUT fda! TR 25%(Gross profit ratio 25% on
sales)
URMA® e (Opening stock) Rs. 31000
sifcm @Y (Closing stock)  Rs. 29000
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g 3fd § MUTR® (Trade receivable at the end) Rs. 24000
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S FERll | 1 Ul @1 TUFT ST
From the above informations, Calculate the following
ratio.
1. Y 3Ma (Stock turnover) 2. AR YT 3ma<i(Trade
recelvable Turnover) 3. 3%l IR 3Uld (Acid Test ratio)
4, Tt Huf<T 3fa<i(Current Assets Turnover) 5. 3d a¥gel!
orafer AT H (Average Collection period in months)

OR
U faReiyor @I 87 Jgurd favelyer & I Seed ud
AHY 87
What is ratio analysis? What are the objects and limitation
of ratio analysis.

. Ups Ya1E fIaRor w7 87 Ig BN a1 fAavvr I yeR

fa=r &7
‘What is cash flow statement? How does it differ fromfund

flow statement.
OR

& TS RN b MR WR BRI goll # g uRad sird
N |

From the following information find out the ne change in
the working capital.

fdeRur (Particulars) 2014 2015
Rs. Rs.
499 (Building) 5,00,000 6,00,000
oFeR  (Creditors) 60,000 50,000
T9eR (Debtors) 60,000 50,000
P.T.O.



U3 3.

https://universitynews.in/

3) Code No. : 03/216(B)

OR
3T T @ 87 fbel a1 ATa<i AUl B YA W
BT |
What is turnover ratio? Give formula of any two turnover
ratio.

FATTT ¥ BIY B TUET DA BT S g P Feg A
FASTEY |

How fund from operation is calculated. Describe in brief.
OR

3] fof. @1 wmRl FuRwi(F= Ud I3) &7 dFTd R Y 31
AT 2014 Td 2015 & A H BHL: | 6,00000 Td 35 8,20,000
o | 9 # B @ ART & 60,000 & | HIF TN I
ERIERNY

The balance of fixed asset (plant and machineny) of Anju
Ltd. at cost at the end of 31* march 2014 and 2015 were
Rs. 6,00000 and Rs. 8,20,000 respectively Depreciation
for the year amounting to Rs. 60,000 Prepare plant and
machning Account.

. Y fIeReT T 27 e H 9SSy |

What is material variance? Explain in brief.
OR
= e Al Rl @1 oy ST
Calculate material variance from the following
information:
TATY AT (Standard quantity) 40 o311, 90T Hed (Standard
Prices) 10 3. Ufa fharymd (Rs.10 Per kg)
Irfd® AT (Actual Quantity) 48 kg. Rs. 12
qElded Hed %. 12 Ufd f6 ™ (Actual Price Rs. 12)
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OR
3fTeR T @ 87 fbel a1 ATa<i AUl B I W
BT |
What is turnover ratio? Give formula of any two turnover
ratio.

FATTTH, BIY B TOET S I Sl & 2 deg A
FASIZY |

How fund from operation is calculated. Describe in brief.
OR

35 fof. @1 Wl FuRwE(F= Ud I3) &7 dFTd R Y 31
AT 2014 Td 2015 & A H BHL: | 6,00000 Td 5 8,20,000
o | ¥ H BN @ WURT ¥ 60,000 2| WIA TAT FAQC]
ERIERY

The balance of fixed asset (plant and machineny) of Anju
Ltd. at cost at the end of 31* march 2014 and 2015 were
Rs. 6,00000 and Rs. 8,20,000 respectively Depreciation
for the year amounting to Rs. 60,000 Prepare plant and
machning Account.

. Y fIeReT T 27 e 9SSy |

What is material variance? Explain in brief.
OR
= e | A Rl @) o ST |
Calculate material variance from the following
information:
UATY AT (Standard quantity) 40 o311, 910 Hed (Standard
Prices) 10 3. Uft fhamd (Rs.10 Per kg)
Irfd® AT (Actual Quantity) 48 kg. Rs. 12
qElde Hod %. 12 Ufd fb ™ (Actual Price Rs. 12)

P.T.O.
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3us ‘A’ (Section 'C')

fuEukfdr ik mikjh; ¢*uk d mikj 4008450 "iCn Thek et
Answer the following long-answer-type questions with
word limit 400-450 : (10x4=40)
Fr=feTRad ARl | qorad U | o™i & fJaRoT TaR
I |
From the following data prepare a statement of profits in
the comparative form.

fdeRur (Particulars) 31.03.2014  31.03.2015

fd®a (Sales) 6,00,000 8,00,000
Hdhodd ™ (Gross profit ratio)  30% 40%
fda=or (Particulation) 31.03.2014  31.03.2015
UMDY I(Administrativexp) 40,000 1,00,000
3MI®HR(Income Tax) 50% 50%

OR
YD Wl FIT &7 YSHIHII ok Ua faxiia o=
# iR T BT |
What is Management Accounting? Distinguish between
Management Accounting and financial Accounting.

. A o @ R aafer g8 96 e 7 TaR 8

Some data of financial accounting of Reena(ltd are as
follows :

¥ T (Annual Sales) 2,00,000
dle] 3TUrd(Current ratio) 250%
faerg Aol oM &1 gferera

(percentege of gross profit on sales) 16%

3iRTT WhY (Averege stock) Rs. 14,000
=] qTed (Current liabihties) Rs. 16,000
3ifcH Y (Closing stock) Rs. 12,000
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s “HA’ (Section 'C')

fuEukfdr ik mikjh; ¢*uk d mikj 4008450 “iCn Bhek et
Answer the following long-answer-type questions with
word limit 400-450 : (10x4=40)
Fr=feTRad APl | o d U | o™i & fJaRoT TaR
I |
From the following data prepare a statement of profits in
the comparative form.

fdaxur (Particulars) 31.03.2014  31.03.2015

fd®a (Sales) 6,00,000 8,00,000
Ahod o™ (Gross profit ratio)  30% 40%
fda=or (Particulation) 31.03.2014  31.03.2015
UMD I (Administrativexp) 40,000 1,00,000
3MI®HR(Income Tax) 50% 50%

OR
UGB Wl FIT &7 YGeIHI o Ud A<l o=
# iR T PR |
What is Management Accounting? Distinguish between
Management Accounting and financial Accounting.

. O L & O SiEiel ge WHe i UeR €

Some data of financial accounting of Reena Itd are as
follows :

qi¥e T (Annual Sales) 2,00,000
dle] 3gUrc(Current ratio) 250%
faerg Aol o &1 gferera

(percentege of gross profit on sales) 16%

3iRTT FhY (Averege stock) Rs. 14,000
=] aTided (Current liabihties) Rs. 16,000
3ifcm ¥y (Closing stock) Rs. 12,000



